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1. A shopkeeper earns a profit of 12% on selling a book at 10% discount on the printed
price. The ratio of the cost price and the printed price of the book is:

TS PSR isd Jod W 10% Pe W TH fHara su W 12% HT aTH FHTT 3|
JEIP & AN G 3R Giod Y &1 31Ut &
A.45:56

B.45:51

C.47:56

D.47:51

Answer: Option A

Solution: Let the CP be 100

Hence, SP=100+12% of 100

=112

If the marked price be X,

then 90% of X=112

_112x100
X=
90

=x=Rs.11209

1120

Hence, Required ratioleO:T:900:1120:45:56

2. By selling a bicycle for Rs. 2,850, a shopkeeper gains 14%. If the profit is reduced to
8%, then the selling price will be:

TS AT5IHd &I UL T IGHR | 2,850 TR TP GHIGR Bl 14% HT ATH gaT g1 afe
AT TeTHR 8% B fear wie, af fasea gea g

A. Rs. 2600
B. Rs. 2700
C. Rs. 2800
D. Rs. 3000
Answer: Option B

Solution: Let Cost Price was X.
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X + 14% of X = 2850

14X

X +—= 2850
100

X+ 0.14X = 2850

1.14X = 2850

X =2500.

So, Cost Price = Rs. 2500.

Now, Selling Price When profit remains at 8%,
= 2500 + 8% of 2500

= Rs. 2700.

Short-Cut

CP of bicycle =

100

—x 2850 = Rs. 2500
114

SP for a profit of 8% = %x 2500 = Rs. 2700

3. A sells an article to B at a profit of 10% B sells the article back to A at a loss of 10%.
In this transaction: A

TSP G B P 10% & ATH TR 94l ¢ B 98 a5 A B 10% B 8T+ W 9199 SAar 2|
ELRE A R

A. A neither losses nor gains

B. A makes a profit of 11%

C. A makes a profit of 20%

D. B loses 20%

Answer: Option B

Solution: First Method

Let CP was 100 for A originally

A sells article to B at 10% profit,
CP for B =100 + 10% of 100 =110

Now, B sells it A again with loss 10%
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Now, CP for A this time = 110 - 10% of 110 =99
A makes Profit=110-99 =11

% profit for A = X100

=11%
Second Method
It could be easily shown by net percentage change graphic.
100(A) == 10%(Profit) =110(B) == 10%(Loss) = 99(A)
In this transaction A makes a profit of (110 - 99 = 11%) 11%
[10% on selling to B and 1% profit on buying back from B]

4. A person sold a horse at a gain of 15%. Had he bought it for 25% less and sold it for
Rs. 600 less, he would have made a profit of 32%. The cost price of the horse was:

U iR A TP TS 15% ATH R 9911 Tfe IHA 39 25% HH TR WIST gidT 3%
39 ¥. 600 TUY HH B WR 3 3206 BT ATY BTl TS BT AN o AT

A. Rs. 3,750

B. Rs. 3,250

C.Rs. 2,750

D. Rs. 2,250

Answer: Option A

Solution: Let the original CP =Rs.X Hence,

SP=X+15%0f X=X —Rg 23X

100 " 20
75x _3x

New CP=x—25% of X=—=—
100 4

22X 222600

20 100

New SP :3Tx+ 32% of 3;—X:Rs.99 x100 According to the question ,

Or’115x—99x:600

100
100

16x=600x100X=600——=Rs.3750
5. If a man were to sell his chair for Rs. 720, he would lose 25%. To gain 25% he should

sell it for:
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gfe S5 At 3=t Ff 100 TUA | d=€T 31 720, I/ 25% BT JHA NI 25%
AT UTd B3 & T 39 39 991 918 ¢

A. Rs. 1,200

B. Rs. 1,000

C. Rs. 960

D. Rs. 900

Answer: Option A

Solution: Let the Cost price of the Chair is X.
SP =X -25% of X

720 =0.75X

X =960

CP =Rs. 960

So, To gain 25%, SP would be
=960 + 25% of 960 =Rs. 1200
Short-cut

CP of chair :%x 720 = Rs. 960

125

To gain 25%, SP s 960 = Rs. 1200

6. A man sold two chairs at Rs. 1200 each. On one he gained 20% and on the other he
loss 20%0. His gain or loss in the whole transaction is:

TS 3ATeHY A &) pRIGT FuB | &Y | 1200 TS, TH TR IH 20% BT ATH §3IT 3T
GO TR 3 20% B T §5 | I¥ TI-¢1 W SHPT a1Y 9T 81 3

A. 1% loss
B. 2% loss
C. 4% loss
D. 15 gain
Answer: Option C
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Solution:In the case where loss and gain percentage is common on same selling price,
always a loss incurs in total deal. And this can be calculated by a short-cut:

Loss on total deal,

(Common loss or gain percentage)z _ (

2 2249
10

10

Alternatively, It can be also calculated through Graphic Change Method: This can be given
by,

100 == 20% gain = 120 == 20% loss = 96

Loss = 4% (As 100 became 96)

7. A shopkeeper marks his goods 30% above his cost price but allows a discount of 10%
at the time of sale. His gain is:

TP PR U ATHH UR AT G o 30% 3t ged 3ifdhd oxar g afe-
Pt & THT 10% B Fe ST 3| STDT ATH E:

A. 21%

B. 20%

C.18%

D.17%

Answer: Option D

Solution:Let the cost price be Rs. 100

then the mark up price which is 30% above the cost price,
Mark price = (100 + 30% of 100) = Rs. 130

Shopkeeper gives a discount of 10% on mark up price, then the
Selling Price = (130 - 10% of 130) = Rs. 117

17x100
=17%
100

Gain =117 - 100 = Rs. 17% gain=
Short Cut method:

100(CP) == 30%1 = 130(MP) == 10%| = 117(SP)
Gain=17%

8.1f the profit per cent got on selling an article is numerically equal to its cost price in
rupees and the selling price is Rs. 39, then cost price (in Rs.) will be:
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gfe fdt avg &1 991 W U AT Uia=rd S-S U 9§ 3D dFTd o 30
H SRR § SR faspy geu 3 81 39, O @NTd Yo (¥ H) BH:

A.20

B.22

C.28

D.30

Answer: Option D
Solution: SP = Rs. 39
CP =x (let)

Profit % = CP

39-x _

or, =
xX100

[%0 profitzsp_PCP

C

]
3900—100x=x2
x2+100-3900=0

x=30 (we cannot take negative value of x)

9. A man buys a field of agricultural land for Rs. 3,60,000. He sells one-third at a loss of
20% and two-fifths at a gain of 25%. At what price must he sell the remaining field so

as to make an overall profit of 10%?W6m$ﬁ@WW@HF@ﬁWT
21 3,60,000. I8 U fABTS BT 20% P I R 3R &1-Ui=d Bl 25% & ATH UR S=dT
21 10% BT el ATH FHIH & [T 39 XY Wd B [$A DA W 991 T1gT?

A. Rs.1, 00,000
B. Rs. 1,15,000
C. Rs. 1,20,000
D. Rs. 1,25,000

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333 Search Us on
YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in Study Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

Answer: Option

10. An article is listed at Rs. 920. A customer pays Rs. 742.90 for it after getting two
successive discounts. If the rate of first discount is 15%o, the rate of 2nd discount is:

Anmswvwer: Option O

Solutiomn:
First Tethod -

P — S60000

To gain 10% on whole land,

S — 360000 4+ 109 of 360000
— MRs. 3I9a000

% oftthe land sold on 20%% loss.

bl g Gf% larnd

SS0O00D0 S60OI0HOHD

— FHs._. 96000

S of % of the land

360000 =< 2 IG60000 > =
= = —4 259 of =

— s 180004

Thuas,

SP ofthe remaining land

= 396000 — 965000 — 180000
= s 120000

Second hWMlethod:

S of total agricultural
fHield at a profit of
360000 >= 110)

100
— FHs_. 396000

10% —

SD,SI)Df%;DfﬁBhi
360000 S0

= ~ Joo
— Fs. 96000

S of % tfe of the fGeld

2 > 360000 = 125
5 > 100
— s 18004040

Hence,

SP ofthe remaining fiield

= FRs. (396000 — 96000 — 1830000
= s 120000
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TP a¥g $Ud H YA ¢ 1 920. TH AP $UY BT YA HdT § | TAR &l
f&Tp1de firem & 91q sa®! Fad 742.90 FUA g1 IS Ugell ge Bl ax 15% 8, @l

@'ﬂ B PIRE:

A.3%

B.5%

C.8%

D.12%

Answer: Option B

Solution:MP =920

After first discount marked Price (MP) become,
=920 - 15% of 920 = 782

The Selling Price (SP) = 742.90
Let second discount was x% on 782
782 - X% of 782 = 742.90

782x_

=391
100

782x = 3910

X =5%

Second Discount = 5%

Short-Cut

920 == 15 % (1st discount)) == 782 == x% | (2nd discount) = 742.90

(782-742.90)x100_39.1x100

Then, x%=
742.90 742.90

=5%

11. A tradesman marks his goods at 25% above the cost price and allows purchasers a
discount of 252 %, his profit is:

TSP ATIRT U T W AR o | 25% SMfIP Yo Siferd a1 8 iR TeeRI
B P eI e

A. 8%
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B. 8.5%

C. 8.625%

D. 9.375%

Answer: Option D

Solution:Let his CP = Rs. 100.

Marked Price = 100 + 25% of 100 = 125.

. 25
Now, discount =

% on MP So, SP = 125 22—5

% of 125 = Rs. 109.375.

%Gain = 9.375%.

Alternatively use graphic change method:

100(CP) == 25% Up = 125(MP) == 12.5%down = 109.375
% Profit = 9.375%

12. A bicycle marked at Rs. 2,000, is sold with two successive discount of 20% and
10%.An additional discount of 5% is offered for cash payment. The selling price of the
bicycle at cash payment is:

TS Isfd IR Sifdrd &I . 2,000, 20% 3R 10% 1 &I SHH® Fe & "1y 397 ATl
81 AdH¢ YA & 1Y 5% 3t Sfcfvad ge &1 U= ot F1dl 8 1| 7dhe YaH W)
arsfea 1 fassa geu &

A.Rs. 1,368

B. Rs. 1,468

C. Rs. 1,568

D. Rs. 1,668

Answer: Option A

Solution:

Marked Price = 2000

SP after first Discount of 20% = 2000 - 20% of 2000 = 1600
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SP after second Discount of 10% = 1600 - 10% of 1600 = 1440
Now, the final selling price at cash = 1440 - 5% of 1440 = Rs. 1368

Shortcut by using Graphic Change 2000(MP) == 20% (disc.) = 1600 == 10% (disc.) =
1440 == 5% (disc.) = 1368(SP)

13. The marked price of a shirt and trousers are in the ratio 1:2. The shopkeeper gives
40% discount on the shirt. If the total discount in the set of the shirt and trousers is
30%o, the discount offered on the trousers is:

TS ¢ 3R UaqH $T Sifhd G 1:2 F UTd H 81 gHFGR XS W 40% Bl Fe
<1 g1 afe I 3R UaqH & AT W $d Ge 30% o, df IdqH W &f oI a1ell ge &

A. 15%

B. 20%

C.25%

D. 30%

Answer: Option C

Solution:Let the price of shirt and trouser be Rs. 100 and Rs. 200 respectively.
Then, price of set of shirt and trouser = Rs. 300.
After giving 30% discount on the set,

Selling Price =300 - 30% of 300 = 210.

Total Discount on Set = 90.

And Discount on shirt is 20% alone,

SP of shirt alone = 100 - 40% of 100 = 60.

Rs. 40 is the discount on shirt then Rs. 50 must be the discount on the trouser.

: 50x100
So, discount on trouser = 200

= 25%.

14. A dealer buys an article marked at Rs. 25,000 with 20% and 5% off. He spends Rs.
1,000 for its repairs and sells it for Rs. 25,000. What is his gain or loss per cent?
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To SeR I Sifvd Gou arell Ush avg WedT 81 20% 3R 5% Pe & |1y 25,0001
98 $UY W Hdl g, TUPT A & oI 1,000 $UT W BT g 3iX 3 Sud A
ST 21 25,000. IHBT @TH 1 g1 ufazra s @

A. loss of 25%

B. gain of 25%

C. gain 10%

D. loss of 10%

Answer: Option B

Solution: Marked Price = 25000.
After first discount it become,

= 25000 - 20% of 25000 = 20000.
After second discount, it becomes
= 20000 - 5% of 20000 = 19000.
So, SP =19000.

CP for the man who bought it, as he spends 1000 on repair.
=19000 + 1000 = 20000

Profit = 25000 - 20000 = 5000.

. 5000100
%Profit = 55000

= 25%

Short-Cut

25000(MP) == 20%(Disc.) = 20000 == 5%(disc.) =19000(CP)
Spends on repair = Rs. 1000

Then, CP becomes = 19000 + 1000 = 20000

Profit = 5000

% profit :5020(;)0)(01000 = 25%

15. A trader sells his goods at a discount 20%. He still makes a profit of 25%. If he sells
the goods at the marked price only, his profit will be:
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TS ATIRT UAT AT 20% Fe W a9d1 g1 a8 3ft ff 2500 w1y surar 31 afe
98 Sifrd You WR ) e dwrdT g, It STPT A1 B

A. 56.25%

B. 25.56%

C.50.25%

D. 54.25%

Answer: Option A

Solution: Let the marked price = Rs. 100
Then, SP = 100 - 20% of 100 = Rs. 80
Profit = 25%

Let His CP =X

SP =80

X + 25% of X =80

100%X80

Hence, X = Rs.
125

= Rs. 64
CP =Rs. 64
Profit after selling on marked price = 100 - 64 = Rs. 36

36x100

% gain = ”

= 56.25%

16. The marked price of a radio is 20% more than its cost price. If a discount of 10% is
given on the marked price, the gain per cent is:

TP IS &1 Sifdhd You TP AN o A 20% 3w 81 afe sifdrd Iea uR 10%
o1 ge <l 9l 8, 9 @y ufaza @

A.15
B.12
C.10
D.8
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Answer: Option D

Solution: Let CP = 100

Then, MP =100 + 20% of 100 = 120
Now, SP =120 - 10% of 120 = 108
Gain =108 - 100 = 8

8x100
100

%Gain =
= 8%
Short-cut

100 (CP) == 20 % (up) = 120(MP) == 10 % (disc:) = 108
% gain = 8%

17. A shopkeeper sells sugar in such a way that the selling price of 950g of sugar is the
same s the cost price of 1 kg of sugar. What is his gain percent?

U gPHER i1 59 UBTR ST ¢ b 950 I8 =1 o1 faspa gea 1 fpeaomy <=
& AT o & THH g | BT ATH Ufa=rd w82

A5>%
19

B.5-%
5
C.5%
D.4—%
19
Answer: Option A
Solution: Sell sugar =950 g instead of 1000 g
Profit in sugar

=1000-950=50g

50x100

Now,% profit=
950

=5>04
19

Short - cut:

Goods left

0 it=
/OpI'OfIt Goods sold

x100=-2x100=5-%
950 19
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18. After allowing a discount of 11.11%, a trader still makes a gain of 14.28%. At how
many percent above the cost price does he mark on his goods?

11.11% P e oA & a1¢ W, TP SATIR Bl 14.28% BT ATH AT 8 | 98 31U WA W
N1 o4 ¥ fram ufa=ma siftre ge sifded srar 82

A. 28.56%

B. 35%

C.22.22%

D. None of these

Answer: Option A

Solution:Let the CP be Rs. 100, then SP = 100 + 14.28% of 100 = Rs. 114.28
(As Profit = 14.28%)

This profit is arrived after giving discount of 11.11% on the marked price.
Let the marked price be x

X-11.11% of X =114.28

100—-11.11

X x =114.28

_114.28x100
8889

= Rs. 128.56, which is more than 28.56% of CP.

19. A dealer buys dry fruits at Rs. 100, Rs. 80, and Rs. 60 per kilogram. He mixes them
in the ratio 3:4:5 by weight and sells at a profit of 50%. At what price per kilogram
does he sell the dry fruits?

To i) g@ Ha 300 & @ilear g1 100, ¥. 80, 3R ¥. 60 ufd fpeivm. a8 S au
& 319 9 3:4:5 & 3rguTa A fArarar 8 3R 50% & @Y R Igar g1 98 ufd
frarme forg #iud R @ A9 d9d1 82

A. Rs. 80

B. Rs. 100
C.Rs. 95

D. None of these

Answer: Option D

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333 Search Us on
YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in Study Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

Solution:Let the dealer buys 3 kg, 4 kg and 5 kg.
Price of total dry fruits =3 x 100 + 4 x 80 + 5 x 60 = Rs. 920
SP =920 + 50% of 920 = 1380

Hence,Price of mix dry fruits per kg =%

=Rs. 115

20. The cost price of an article is 80% of its marked price for sale. How much per cent
does the tradesman gain after allowing a discount of 12%?

TS a] BT ANTd Yoo {9t & e 3ifha gea #180% B 1 12% $t e 34 & a1
TR 1 fa=1 ufa=ra ary giar g2

A. 20%

B.12%

C.10%

D. 8%

Answer: Option C

Solution:Let the marked price = Rs. 100
Then the cost price = 80% of 100 = Rs. 80
After allowing 12% discount on MP,

SP become = Rs. 88.

8x100

% profit = ”

=10%

21. A merchant has announced 25% rebate on prices of ready-made garments at the
time of sale. If a purchaser needs to have a rebate of Rs. 400, then how many shirts,
each costing Rs. 320, should he purchase?

TP AMURT A {39 & T TR $US| D Bl UR 25% Fe BI Non &1 31 afe
el TRieR &1 3Ud 91 e 3 smaxgwar g1 400 B, A1 fa ¢, TS ot Biaa
3. 320, T IY WlAT A1fge?

A.
B.
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C. 6
D. 5
Answer: Option D

Solution:Discount on one shirt,= 25% of 320

_320%25
100

= Rs. 80

Hence, number of shirt he must buy to get a rebate of Rs. 400 =% =5

22. A reduction of 10% in the price of tea enables a dealer to purchase 25 kg more tea
for Rs. 22500. What is the reduced price per kg of tea?

T B ST H 10% P HHI A Uh SieR 25 U A 25 fhdt 3iftre arg @die aodr
21 22500. Ufe foreTmT o ot Ut g5 & 19d 18?2

A.Rs. 70

B. Rs. 80

C.Rs. 90

D. Rs. 100

Answer: Option C

Solution: 1% Method :Let the original prine of tea be Rs.x kg

After reduction the price becomes=x-10% 0f X

9x 22500

=9x/10 per kg Now, 22500/5— ” =25 or,

10 1

22500

or,25x9x=225000r,x=
25%9

=Rs.100
Hence,newprice=90perkg
Thought process method :

Let the original price be Rs. 100 per kg, He get tea=22500100=225kgAfter reduction the
price becomes= 90 per kg He get tea=2250090=250kgSo, reduction price is Rs. 90 per kg

As it enables him to buy 25 kg of more tea.

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333 Search Us on
YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in Study Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

23. A sells an article to B at gain of 25% B sells it to C at a gain of 20% and C sells it to
D at a gain 10%. If D pays Rs. 330 for it, how much did it cost to A?

A TH T P B B 25% S ATH TR A<IdT 8 B TH C B 20% F ATH W A9 8 3R C
39 D B 10% & ATH W 94T 8 | TfE D TUY BT YIaH Sl g1 59 g 330 %,
A &I ST ANTd fba-! ghfl?

A. Rs. 200

B. Rs. 250

C.Rs. 275

D. Rs. 290

Answer: Option A

Solution: First Method

Let Cost Price for A was 100

Then CP for B = 100 + 25% of 100 = 125
CP for C =125 + 20% of 125 = 150

CP for D = 150 + 10% of 150 = 165

But, D pay Rs. 330, Then it must be equal to
165 =330

_330

" 165

100_330X100_200

~ 165
Thus, CP for A = Rs. 200
Short-cut

A's CP =

330x——x——x-—= Rs. 200

125 120 110

24. 1 sold two watches for Rs. 300 each, one at loss of 20% and other at the profit of
20%. What is the percentage of loss (-) or profit (+) that resulted from the transaction?
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A 3 ufeal vl # 91 e 300 TU BT 7, TH 20% P I W 3R GERT 20%
& Y TR | A-¢1 & URUITHRGEY g (-) AT ATY (+) BT Ufer=rd 1 82
A (+)4
B. ()1
C.(+)1
D. (-)4
Answer: Option D

Solution:In such cases, always loss occurs. It can be calculated by this formula,

_ (loss or gain percentage)z_

=4

100
That is 4% of loss

Graphic Change method
100 == 20%(loss) = 120 == 20%(gain) = 96
% Loss = 4%

25. A shopkeeper wishes to give 5% commission on the marked price of an article but
also wants to earn a profit of 10%o. If his cost price is Rs. 95, then marked price is:

TP GPTGR [l avg & 3ifbd Hed W 5% SHIRA AT =TT & A 10% BT
oY +ft AT AR /| 91 SHPT Y Heu 3. 95 7, dl sifpa qea ®:

A. Rs. 100

B. Rs.110

C.Rs. 120

D. Rs. 130

Answer: Option B

Solution:CP = Rs. 95.

Then SP =95 + 10% of 95 = Rs. 104.5

Let MP = X. He gives 5% commission on MP.
So,

SP =X -5% of X
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SP =0.95X
104.5 = 0.95X

=1045=100
0.95

Thus, MP =Rs. 110

Short-cut

95 == 10% (gain) = 104.5 == 5% (Commission) = 109.72 (= 110)

26. Two successive discount of 10% and 20% are equivalent to a single discount of:
10% 3R 20% B Gl TP P TP Thd Jc P ISR 8.

A. 30%

B. 28%

C. 26%

D. 25%

Answer: Option B

Solution:Use Formula,

Equivalent Discount = (A + B) - %

where A = First Discount, B =Second Discount.

20x10
100

Equivalent Discount = 30 - 2 = 28%
Graphic Change Method
100 == 20% (disc.) = 80 == 10% (disc.) = 72

Equivalent Discount = (20 + 10) -

Equivalent discount = 28%

27. A dealer allows his customer a discount of 25% and still gains 25%. If cost price of
a radio is Rs. 1440, its marked price is:

TP SR AU UTED P 25% DI e &dT 8 3R fbv ot 2500 H1 A1 Wi Hear g1
gfe U ST o1 50 Yo 3. 1440, DT ifhd T 8-
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A. Rs. 2500

B. Rs. 2440

C. Rs. 2400

D. Rs. 2020

Answer: Option C
Solution: Let MP = X
CP =1440

SP = 1440 + 25% of 1440 = Rs. 1800
SP = MP - 25% of MP
SP = X - 25% of 100
SP =X-0.25X

1800 = 0.75X

X = 2400

MP = Rs. 2400
Short-Cut

Let the marked price = Rs. X

75% 125
Hence , ==2=1440x-=2
100 100

1440%125
=
75

= Rs. 2400

28. The selling price of an article after giving two successive discounts of 10% and 5%
on the marked price is Rs. 171. What is the marked price?

3ifrd e W 10% 3R 5% B 3 Hi¥® e 3 & 91 TP avg &1 faha g . B
171. 3ifpd gea T 82

A. Rs. 200

B. Rs. 220

C. Rs. 240

D. Rs. 250
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Answer: Option A

Solution:Equivalent Discount=(A + B) -%

10X5
100

= (10 +5) -
=14.5%
Let MP = X

Now,

X -14.5% of X = 171(Selling Price)

0.855X =171

X =200

Hence, MP = Rs. 200

Going through options,

200(MP) == 10% (disc.) = 180 == 5% (disc.) = 171(CP)

29. A man purchased some fruits for Rs. 1000. He sold few fruits worth 400 at 10%
profit. At what profit per cent, must he sell the rest in order to gain 20% on the whole?

TP 3TGH 4 $O Bd 3Ud T WS | 1000. S 400 Yo & O B 10% ATH TR
I | $ FAEATHR 20% AT YT H31 & fore I A9 iR fhax ufama v w®

CERIII T

A.26§%

B. 25%
C. 30%

D.33§%

Answer: Option A

Solution: To get 20% profit on whole,
1000(CP) = 20 % (gain) = 1200(SP)
Total Profit = 1200 - 1000 = Rs. 200
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400 = 10% (gain) = 440

He gets Rs. 40 profit on 400

Rest Profit = 200 - 40 = 160

Then he must get Rs. 160 as profit on Rs. 600

Hence, % profit

_160x100

=262%
3

30. A dealer offers a cash discount of 20% and still makes a profit of 20%, when he
further allows 16 articles to a dozen to a particularly sticky bargainer. How much
percent above the cost price were his wares listed?

TS SIAR 20% B Ade e odl 8 3T fbR W 20% &1 a4 FHIET &, o1d 98 Th

ORIy HigaTeit #3 aTe &1 TP gold A 16 aXg3Hi St SFHl a1 81 SHDT a1
ARTd e 9 fram ufa=ra SuR geltas U

A. 100%
B. 80%
C. 75%

D.66§%

Answer: Option A

Solution: Let the CP of the article be Rs. x, since he earns a profit of 20%, hence SP = X +
20% of X = 1.2x

It is given that he incurs loss by selling 16 articles at the cost of 12 articles [loss :161_612:

25%]

His selling price = SP - 25% of SP = SP x 0.75

Hence, SP x 0.75 = 1.2X

Or, SP =1.2xx/0.75 = 1.6 X

This SP is arrived after giving a discount of 20% on MP.
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Let MP =Y

Y -20% of Y = SP
0.80Y =1.6X

Y =2X

It means that the article has been marked 100% above the cost price. Or Marked Price was
twice of cost price.
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